
   15                    2

01. 2 (8) - 1            1
             16 - 1              3a = 6  

02. 3a - 2 =  4                 1           

   a = 2                    2

                                                                     1
              -6                          -1     0   

03. 

     -1            1

04. 4ab2, 8a2b2c                  

                           4 .kakjdg           1 

 4ab2                    2

05.  AOB = AOD            1
       BOD = AOD            1       

 n (A) = 4             1

06. A = {r"ka"Uq"g}         1 

07. 1t 25kg x 15            1
              
   15t  375kg              2

08. 34 - 1               1

   33                 2
 

09. -5 (a-2b+4c)              2

 -5 g ,l=Kq 1     70                     1                   

10. 140                   1

 

11.  1 x 2 x 1                1
        2

3
 1 m                2 

12. I.  8                1 

 II.  7                     1
 

13.     
                                2

 5 x 4 = 20cm                 2                   

              2
14. 10 = 5cm                    1

          2                                       2     

  00:30    fm'j' 12'30          2  

      9  1                            10 - 9 1

15.  5  1  - (-4)                

      5  1  + 4                            1             
 2

           2
           4 x 5 

16. 1    x 8 x 5              1
            2

2
             20 cm                1

17. 275  x 3             1
            
         825 ml                2
 

            
19. 7 : 5              

           7  x 100  ]           1   
           5
 
 140  ]            2   

            
18.                           2

         1 cm            6m         1

20. 1 : 600             
            

 6 x 3 = 18m         2

| | |

8



II m;%h 

   -3  -2  -1  0   1   2    3   4 

 (b)  I.  C ,Cih              1

                            B = 17.8              1

  III.                                                            1+1+1

  

01. (a)  
  I.  A = 14.4             1

  II.  -2     X    3           2

  ^7"- 2&              1        ,' 1 

      II.  ABCD  iup;=ri%h iuñ;sl wCI 2           1
  fPaok ,CIh ^4"1&          1

    III.  4                 1    

 (c)  I.  20 + 30 + 30 + 12 + 12 = 104 cm                

  1cm            400cm 
  1cm            4m                1
  104 x 4               1 
  416 m              1    

   = re' 6000                1    

   3b = 60                   1   

        6  : 4 : 2            1

  = 11 x 5 

      (b)  I.  l  I  c 

                          

  = 55]                1
  

      3 ( 2

         3 :  2:  1            1

  III.    3 X 12000                 1

02. (a)   22 x 100]         1

                                 6

 (c)  I.  3b - 2                 1 + 1 

     II.  3b - 2 = 58                  1 

   2 ( 1

  40

   

       III.  3b - 2 = 58

   b   = 20                  1

03.  I. (+2) + (-3)            1
 (-1)                         1

                  (-4)             -4

       III.  2 (6x-y-2)
   
   ,' 1        ,' 1

       II.  (+2) X -4   = (-8)  = 2          1+1 

3
     IV.   8y
    33 3
              2  x y   = (2y)          ,' 1 + 1 

33
        V.   (3a)  x (2b) 

3 3               27a  x 8b ,' 1 + 1
3 3               216a b    ,' 1

  

  YS¾I = 32 - 12                 ,' 1

     ©.  I.   iumdo ;%sfldaKh     ´kEu 2 g 
      iup;=ri%h  ,' 2

    

       II.                            20 x 6                ,' 1

04.  I. 20 + 20+20+20+20+20+20+20
 20x 8                ,' 1

 rEmh weoSug   ,' 1

 160cm              ,' 1

      120 cm                ,' 1 

      (b).  12 + YS¾I = 30 + 2

  YS¾I = 20                   ,' 1
 

      iúê Ivdi%h   

 II.   fkdfõ           ,' 1
  iEu Ys¾Ihla i`oydu yev;,
 tlu wdldrhg yuq fkdùu'        ,' 1
  



      2   2
  

05. (a)  I.     1 x 1       ,'1

        5  x 1       ,'1
             2    2

        5       1       ,'1
             4      4 

   =  9 x 4             ,' 1

 II.     1       1       

             2   9
 =    2                 ,' 1

            2     4 

  
  = 9       9            ,'2

(b).  I.  2x3x3            ,'1 
  = 18            ,'1
           
 II.  324            ,'1       

   =  18 cm            ,' 1
           

  

         h Î B        ,'1

             8     4

  (b).  I .   30          ,'1

 

  D wNsY+kH l=,lhla     ,'1

       II .  14       7            ,'1+1

 

06.   I.  A ={6,9,12,15,18}          ,'1

   III. 9 Î A        ,'1

         III .   2        1            ,'1+1

 C = {W,E,L,C,O,M}         ,'1

  II.  n(D) = 0          ,'1

            30    15

    
 

   

 0 0  180  - 120

  

0  x = 50           ,'1
07.   (a).  

                    0    60 ,'1

    0 0  y = 50   + 60 

    

  

 0  y = 110                    ,'1

  (b).   I.                          ,'1

   II.  wrh                     ,'1
      flakaøsl Lkavhla           ,'1 

                         A       4cm    B 

                     0        II.    ABC  = 90 ,'1

 ©.   I.         5cm
    C

                                                3cm                   ,'3 

 
       III.   úIumdo ;%sfldaKhla            ,'1

2

1=

2        44 2

¸
=

=
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